EAEME  EEERME KEEHE GOS0 SATHEE  ATSME  SEEEHE

A = . 22089 N
¥ e B weis |08 | BB (g | ERE &7
Ragc )= () e () 2% mhizs | | mmas Lty A ig';ﬂ;? = 5{?0;?
Bl b3 % .
3 4 B [ 80% || F | 40% 22099 4 = 22101 jKEII_‘ﬁ 3
C | 70% |[G [ 30%
D | 60% 22107 (FEEME) 22]00

L2t EIR ;1 JLAERE LRIZ i
22100 @ﬂ Qﬁm“%@m %‘&ﬁﬂﬁ z;'w Eﬁ
" w2 - N
:

74 2

\

-8 2
sssss

28F w ! \
e FFAT En W\
— 28F e
N ‘
aaaaa = F
2%F |
I =
28F‘
—— J - — 28F .
FKIRET
L
N\ \
\\\1\ ‘\ 1%$ﬂﬂt5j P e -
S —
o E\\ - ////// ////Z
\ //,7;?//{/
\i\\ " ////;://\{
\ e | 4RaEr
N \\//
1 - \\ %\ \
\ i



